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QUESTION 1

What happens when a packet without a VLAN tag is received on a SAP provisioned with null encapsulation while an
SDP vc-type is provisioned as vlan?

A. The frame is dropped.

B. The service ID is added as the VLAN tag.

C. AVLAN tag of 0 is added as the provider VLAN tag
D. The frame is forwarded with no VLAN tag

Correct Answer: C

QUESTION 2

On which type of IS-IS router is summarization most likely to be configured?
A. L1 routers

B. L2 routers

C. L1/L2 routers

D. L1 and L2 routers

Correct Answer: C

QUESTION 3

Which of the following regarding label population is TRUE?
A. Selected labels from the FIB are populated to the LFIB.
B. Selected labels from the RIB are populated to the FIB.
C. Selected labels from the LIB are populated to the FIB.
D. Selected labels from the LIB are populated to the LFIB.

Correct Answer: D

QUESTION 4
On a Nokia 7750 SR, why must the MTU be explicitly set when configuring an IES spoke termination to a VPLS?

A. By default, a VPLS signals an MTU based on the network port.
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B. By default, an IES sets its ip-mtu to the VC MTU of the VPLS.
C. By default, an IES uses an MTU value based on its SAP.
D. By default, an IES uses an MTU based on the network port.

Correct Answer: D

QUESTION 5

Click the exhibit button.

R1 R2
15-15
—— _192.168.3.0124
= J

Router 2 advertises the network 192.168.3.0/24 to router R1 via IS-1S. How can router R1 ensure that it discards the
route?

A. Use a prefix list on router R1 to discard all ingress 1S-IS routes.
B. Use an export policy and prefix list on router R1.

C. Use an import policy and a prefix list on router R1.

D. This is not possible because IS-IS cannot use import policies.

Correct Answer: D
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